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L= A<
= HEEE

o = -
SESE
g A 2% (kg) AE (m) | €EE5Y (km/s)
Al el 2 1.77 X 10” 3.8 x 10° 0.64
Aol & 7.36 % 10” 1.74 x 10° 2.38
AT 5.98 X 10* 6.37 % 10" 11.2
LA 1.90 % 10” 7.15x 10 59.5
Ef ¥ 1.99 x 10™ 6.96 % 10" 618
Al2] -2~ B 2x10% 1% 10° 5200
ZA218 2% 10" 1% 10' 2 X 10°
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2. A=e W3 - P4 +F
o] A=

gé;-ql '-I;'"E . -75-7l. aﬂ-xlg’ ’I~‘_’/R::

g A F1(s) PAF(m) T/ R
T3 7.6%10° 5.79%10" 2.97x10"
o7 1.94 % 10° 1.08 X 10" 2.99%10 "
AT 3.156x10° | 1496x10" | 297x10"
s} 5.94 % 10’ 298 % 10" 298 % 107"
4 3.74 x 10° 7.78 X 10" 2.97x107"
=) 9.35 % 10" 1.43x 10" 2.99%10 "
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